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A mEH | XpEE | A}

1 Olgfe] Fols HAHE RO0|3| ME | (AhZSASHEAIRE SAZHAIRLETX| 1,030 800 230 | EE
2 FUED W FOUXK| AL W F Sh1E FLUUXK| 2] 5,000 5,000 - | Er
3 FOAE stopg Sh1E FLUXK| 2] 8,000 8,000 - | 2=
4 At L& O Sh1E FLUXK| 2] 6,000 6,000 - | Er
5 |20 M2 7] ChA| AB O & E(SHEAIOHS) Sh1E FLUUXK| 2] 6,000 6,000 - | 2=
6 FoE3 N FURKAHLS} S S8 FOUXX L &3 5,000 5,000 - | Ete
7 FUED W FOUXK| AL WK S35 FUUXK| 2] 5,000 5,000 - | B
8 HLH2 0| R E|7| S35 FUUXK| 2] 6,900 6,900 - | Er
9 d=0t2 THE7| S35 FUUXK| 2] 10,000 | 10,000 - | B
10 EE% o™ X|Z0| S35 FUUXK| 2] 3,100 3,100 - | 25
11 | US| W FUXK] AHLS} 0§ ZEs FUUXK| 2 5,000 5,000 - | Er
12 AT 28 SAY ZEs FUUXK 2| 20,000 | 20,000 - | 25
13 | US| W FUXK] AHLS} 0§ BEE FUXK 3 5,000 5,000 - | 2=
14 MoLlE BEEE UHEY| BEE FUXK 3 4,000 4,000 - | 25
15 Al AIOS BEEE BES AMES0IF 24 ¢HE 27)) _'é‘_—E—% —7,‘—'3,_|X|-X|§| 8,000 81000 - _?_-’,\-
16 StEdES E ot xjAas = BEE FUXK 3 8,000 8,000 - | B
17 | FUE3 9 FOUXNK AL ns ™Y T FUXK 2 EZ 5,000 5,000 - | Er
18 | FUE3 A FOUXNK AL ns A™E FUUXK A2 5,000 5,000 - | Er
19 | FUS3 U FOUXNK AL ns gz g FOUXK| 2 Y2 5,000 5,000 - | B
20 AR 2| ST MOFS3] 35,828 | 30,828 5000 | E5
21 O| At A% EHotF7| 237 Mor23 17,000 | 15,000 2,000 | &=
22 OFECHR =MOHS 747 S5 Mot2 3 17,270 | 17,270 - | R
23 |MOFS X=Xt d2yst M A0S K| =R S5 MOot23 2,860 2,550 310 | 2=
24 Mot22s 233t CHECH 3| 23 Aot23) 4,300 3,800 500 | EE
25 AR 2YH| HIEA M| 25 57823 47,962 | 23,684 | 24278 | &%
26 Z=d-E54 BET HIEA AV & S7823 5,150 4,620 530 | =
27 |7IX2EM X7|7] W EuE odt S HIEA AV 2E S782l3 3,350 3,000 350 | 2=
28 Az stotS 3 HIEA AV 2E S7823 4,490 4,040 450 | =
29 HIE2A 7|25 3| 9323} HIEA AV & S7823 5,826 5,226 600 | EE
30 AR 2EH| St AR S Y SAME X3 29,443 | 16,365 | 13,078 | &
31 M= oot M EIL 3] &It StEARE Y S4METX| 3 1,615 1,285 330 | EE
32 gz LS MK =8 SRS oY M2 3| 1,700 1,385 315 | EE
33 OlECHE £ 38 =7 StEARE Y S4METX| 3 1,200 1,000 200 | EH
34 a2 293 StaXRE Y S4METX| 3 6,200 5,000 1,200 | O/
35 AME = 2FH| DIFEalE UXE S| S 0|3 16,420 | 16,420 - | R
36 siste Bad 82 ZME DIFEos UXE2(Q S7E Y 2,800 2,800 - | B
37 |moioint este 23pkE o Sso|gxol waks Lis| CHSFE M XIALEALS] 3K 2|3) 4,000 3,000 1,000 | &=
38 A2y Mt Ol ot L& SAMET AL HATD| 5,000 4,000 1,000 | EE
39 SAHAF oot 27K SAHASHAE 403 5,000 3,000 2,000 | &
40 A AH 2|93 ALY f& S 570 EHA| 10,000 | 10,000 - | R
41 AE5t= OF2THE7| A S &2 DEE 5 127 B 70,739 | 64,000 6,739 | 2=
42 EXEXA71Y WERA EXRX7Y 50,000 | 50,000 - BE
43 S AN HEHAE|H SMEDES 88,000 | 80,000 8,000 | E&
44 SATALE 22297 SAZAMEE2ZUY 6,000 5,000 1,000 | EE
45 | BAF SEMM DA 0F AMECH3 S2MH G| oA 3,722 2,430 1,292 | &%
46 2302 97|17 ST+=28HA 5,000 5,000 - BEE
47 dHOLS LT H 7| AHMOLZ 2 6,000 5,000 1,000 | EE
48 EHZ{ T} OFLt BESE S5 10,000 9,000 1,000 | E5
49 S22 HET s SAAY S22 100,000 | 100,000 - BE
50 STHS2 23| STHF2 170,141 | 153,156 | 16,985 | 2=
51 ARl dz HsofEHd &It =TH=2 60,096 | 60,000 9% | *=
52 =iz FOiE &7t X[ & STHF2 7,200 | 7,200 - BEE
53 [AIEH oY ZT003 2 Z4E oY S0 S7H S 3,000 | 3,000 - | EH
54 AlZH ofd HiTCH2 S7HE3Z 2,250 | 2,250 - | *=F




ot B PEJTEIPL St =
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55 ToSOHS MEH ST S7H S 124,399 | 122,400 | 1,999 | &

56 &S K| e s 2| STHS2 84,138 | 80,000 | 4,138 | EE

57 THYI| MEH SO S7H S 58,739 | 54,700 | 4,039 | 2=

58 Hs2 &7 dexsiz STHS2 30,894 | 30,400 494 | R

59 HYTIOIAN F2 L3 S7H S 10,000 | 10,000 - | Er

60 Men s 5202 28X & |4 STHS2 6,200 | 6,200 - EE

61 MEtH S X=Xt 25X S7H S 20,450 | 20,450 - | 2=

62 |AHZIZH W Fot7tE BotEE XA SAMHA L S 77 CHA| 25,400 | 24,000 1,400 | &

63 |ARE 7t R2(0r2 A|ZHod EHEE S0 S CHA| Chet 8,000 8,000 - | B

64 HMsts T2 X2 LA™ ST UK A2 S 47 THA| 10,407 9,210 1,197 | =

65 | & XYAS EEHOIH SXALAIN &2 Z2AY 8/S X|UAS| RS O|A| 16,000 16,000 - | Er

66 A2 S X[A|H, 7|2 SO T 3| SAE T X YR 10,000 | 10,000 - | 2=

67 Ao 22X 0 2HALY £ SohAtg| 2 x| 2 171,990 | 156,000 | 15990 | &=

68 419 HAMIAL FRHAL 419 HIFEAE LM E= D 5| 3,402 3,000 402 | EE

69 APRH 2| Lot Rls & 0| 2 E 3 &K 3 15,840 | 15,840 -

70 B Cistol=40| 243 S7X|3 1,050 1,050 -

71 MAEX| a2 WAL oiotel= 0|2 23 =73 3,680 3,680 -

72 3|2 QEH A oiotel= & 0|2 23 =732 4,000 4,000 -

73 U YZHAL Cistol=40| 243 S7X|3 7,240 7,240 -

74 Tai 2| oiotel= 0|2 23 =73 3,300 3,300 -

75 AR 23H] tiettl=d =22 8752 S+ 2 14,740 | 14,740 -

76 B otels =14 358 57X 2 1,050 1,050 -

77 X =2 WA otels =14 358 57X 2 2,000 2,000 -

78 3|2 2 A WA OetlsEZ RS2 57413 2,200 2,200 -

79 A5 YA otels =14 358 57X 2 4,400 4,400 -

80 Ad =2 X[ 20| A otels =14 358 57X 2 600 600 -

81 5.8 7|0 M A Ootel=s =14 358 57X 2 2,205 2,205 -

82 AR 717] 7+ Ootels 214358 57X 2 1,000 1,000 -

83 APREA 2| Cistel= M= 40[LQls S7X| 2 14,740 | 14,740 -

84 SIS & Ay Cistel= M= 40[LQls S7X|2 1,050 1,050 -

85 X =2 WA Cistel= M= 40[LQls S7X|2 4,784 4,784 -

86 3|2 Q2 A WA Cistel= M= 40[LQls S7X| 2 2,200 2,200 -

87 S AZHA Cistel= M= 40[LQls S7X|2 3,660 3,660 -

88 APRZ17] T+ it Rl M=+ 20|Y s S| 3 1,000 1,000 -

89 APREA 2| ottt =2 S22 At S7X|3 14,740 | 14,740 -

90 ote Aotz 3 3|/ HI|ED| Ciotol =2 RS2 A2 S4X| 2 1,650 1,650 -

91 BRI Ciotol =2 RS2 A2 S4X| 2 1,050 1,050 -

92 X =2 A ottt RS2 A2 S4X| 2 3,980 3,980 -

93 32 Q2H WA Ciotol =2 RS2 A2 S4X| 2 2,200 2,200 -

94 HE Y ZHA ottt RS2 A2 S4X| 2 2,480 2,480 -

95 APRZ17] T+ ottt =2 S=2Ate| S7X|3 1,000 1,000 -

96 APREA 2| CHt Rl =6 258 M G S A2 S+X|2) 15,620 | 15,620 -

97 QtE Ao|Ll 7| CiotEl= 6.25 BRI E+X2 1,018 1,018 -

98 SIS E A W HBAE HAY | Rl 6.25 H#HERSAE| S| 3 1,050 1,050 -

99 THEX| A A CiotEl= 6.25 BRI E+X2 2,010 2,010 -

100 2 Y= WA CiotEl= 6.25 BRI E+X2 3,000 3,000 -

101 S Y AZHA Oistel= 6.25 B#HFIX2 S+X2 1,900 1,900 -

102 6.25717 7| HA A OistEl= 6.25 BRI S+X2 3,000 3,000 -

103 |=2=2HSE 0 7|94 9 =2 At oistols 6.25 & MRS 57X 3 2,500 2,500 -

104 Tt 28| Oistol=s 6.25 BRI S| F 2,400 2,400 -

105 |E3E ot 6257 HIZ A2|7| us|Ofstels 6.25 BRI S 3 1,000 1,000 -

106 AR 2| ot 2l D@L S 2 14,740 | 14,740 -

107 SR Ehy ot 2l D@L S 2 1,460 1,460 -

108 X =2 A Ciotol= 0 @M™ L2 S+X|2 2,000 2,000 -

109 2|2 Y2 WAL ot 2l D@ ML S 2 3,850 3,850 -
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110 5 EHAL Ciotol= 0 @™ L2 S+X| 2 5,960 5,960 - BRE
111 DAEE THEOl ' SAt Ciotol= 0 @™ L2 S+X|2 2,000 2,000 S| RE
112 T=A 23| ot 2l D @A™ L2 S 3 2,400 2,400 - | BE
113 AFR A 23| Oistolm 2 MM 57X 3 13,035 | 13,035 S| RE
114 SIS EF Ay Oistol=s 2 MM 57X 3 1,050 1,050 - BE
115 S3 MEX| =HHA Oistolm 2 M &AL 57X 3 2,500 2,500 S| RE
116 3| =S WA Oistolm 2 MM 57X 3 2,700 2,700 S| RE
117 HE U H2HA Oistolm 2SI 57X 3 4,200 4,200 - | BE
118 |HIEEET Ms573d MS8A FEA| st 2N 54X 3 2,000 2,000 - B2E
119 AHRA 2H| stolma E+ AR R I S7X]3 9,174 9,174 - | 25
120 SIOtE = HA istelma E+ AR R I S7X] 3 1,810 1,810 - | 2=
121 3| HE S WA iottl=E= AR R EX2 71X 2 1,050 1,050 - B2E
122 HE YU H2HA stolma E+ AR R I S7X]3 340 340 - | 2=
123 g MK =g U SEANY DHEFATIOIAL =D AL D] 6,360 6,360 - | BE
124 | 283 A 94T S5 0/0f7| Bd|  (AHREYAHIZN 27| 2525 21,995 | 20,000 1,995 | O/
125 HMne T2 2FH| Ciotc Q13 2AE X3 7,000 7,000 - | 2=
126 Lol AL Mg Ciotc Q13 2AHE X3 30,000 | 30,000 - | 2=
127 Z2Y X=Xt 9Eds ns X3 Ciotc Q13 2AE 71X 3| 3,000 3,000 - | 2=
128 ZF0w gt old ms x| @ AMEHEH Ol AR St 3,240 3,000 240 | BB
129 | 9XI¥ Oj2lo] S5+ EHRI|nF SALAAN T ESM AT 2,200 2,000 200 | EH
130 | Z2Y YUY ARG (=AZXSEAY X Q) Ciotc Q13 2AHE 71X 3 1,500 1,500 - | Er
131 XM ZOHQIH 2 E4X|2 2HH| |SMBAA XN TOfOHS] S| F 29,001 | 27,805 1,196 | 2=
132 TotEof ol MEIX| 7%t SAZ Al XM F O QI 2| SFX| 2] 4,437 3,930 507 | EE
133 {1 =X ZXICH 3 SAZ Al XM O 2| EFX| 2 12,358 | 12,000 358 | EE
134 | RIHLSEOfIZX| | STX|E 2YH|| ST YA XYL SRHS| S7X L 21,817 8,180 | 13,637 | &=
135 XM LeEofol MM EHE S SA A X| UL Q2K HS| X2 11,340 8,680 2,660 | EE
136 XM LeEofol YN ses SA A X| UL Q2 X HS| K| 2 3,600 3,000 600 | EE
137 SO0z E7X|3| 2FH| SO0l 3| §7X| 3 10,845 3,600 7245 | %
138 BRI A A E =20 SOOIl M A 3,044 3,000 44 | EHEY
139 | ZHOHQl K| AL XY ZHAI4 O 8K} B7HAIH| X| Q| AR AR QIFZIHSME 5 5744 13,320 | 13,320 - 2%
140 |HORQIFIRSA|E F7 2GH| X[ | SMEATO|AFIESME 5 5714 18,000 | 18,000 - | Er
141 | ZOIQl BT SAIM 22Xt 27| X QA SRAHONCIESEAE 5 474 28,800 | 28,800 - | 2=
142 X ARt E SALRE WSH| X[ SAE T XA E 2,000 2,000 - | 2=
143 K& O X} @4=ALE| st SAE T X AR E 3,000 3,000 - | 2=
144 |'WHESt Hoz W2 Xjofr MEY T2 0] g ThA| & 2| 2 4185 | 3785 400 | E8
145 Oh& O S H T X| A ACH AL ST PESHYHA 4,900 | 4,900 - | 28
146 SR RIS 3 S Rlg| AEINY SRR MEHO|H L 2RI 2,750 2,500 250 | EE
147 SHRERILE S4 A E|F 0 ST FER7PEOIN L2 )3 5,510 4,500 1,010 | O/
148 LHEE R S ALY SR 7PE0IN L2 )3 2,860 2,500 360 | 2=
149 CebH =g ME SAX =5 X| & CHeH =& M E 11,220 | 11,220 R SIS
150 CHESIE2 M S 2AhYMCA 10,000 | 10,000 - | *=F
151 | zzorgcesisxadecresssangs) sepa nal S LHZAIIY.CHESIZIE K| /M EH 26,910 | 26,910 - | &
152 SSHENYAES) TR =T |SSUEIE 20 2{XMN, 2R AZHALSIT) 2,800 2,800 - | *=F
153 H Ul & x| =7 70 2O AT D 13,200 | 12,000 1,200 | =%
154 O ZI0| T "IN X|™Z 7| =22 Z2I0|E & 48714 20,300 | 20,300 - BE
155 I AZZIY 0|8E X EQ/+&0[0{ZO|H & 17570 & 10,380 | 10,380 - | BE
156 HEWA 2&55Y EQ/H+&0[0{ 20| H & 16070 & 70,100 | 70,100 - | ®F
157 Za| 21| EQZH & 0[0{2I0|H & 160702 330,000 | 330,000 - | *F
158 HES7H EQ/+&0[0{ 20| & & 1957 & 198,000 | 198,000 - | *=F
159 O ZIO|E At ST EZtoj 2ol E et g 40,000 | 40,000 - | B
160 X|otsME SAXE X| 2l (XFA]) FE3UX| Yot HME S 1074 59,346 | 59,346 - | B
161 Kot EQ2F X[ A(XA) | O|2tX|otsME, O|AFX| % ots ME 11,904 | 11,904 - | B
162 | X|YotsME SMXJZ2 024 X[ | FES|UX|AotsME S 10714 12,000 | 12,000 - | B
163 X|gotsAle 7|52 4H| X|& FEUX| Yot HME S 1074 10,000 | 10,000 - | *=F
164 XGOSl gtz STAHots M E B 2|3 15,000 | 15,000 - | *=F
165 X Yot AR E 0= STAHots M E B 2|3 1,500 1,500 - | *=F
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A mEH | XpREE | ZAal

166 AotsAlE =X & XAHASALRLC| HY STA YOS ME o3 3,000 3,000 - | Bt

167 R e e E NN IS E SASEUEEEY 2 27 X9 17,400 | 17,400 - | 0E

168 2 SO|EME 0| 2Y 27 584 Y At 6,040 5,000 1,040 | 2=

169 A= R 7{e FH | 27 584 Y At 3,660 3,000 660 | =

170 HE s HX|Hst 27 584 Y At 2,430 2,000 430 | =

171 S0l & x| & 27 sUZ G0l ety 5,500 5,000 500 | 2=

172 HAGMALY W= H| X| MEMEAL AT 3 3,500 3,000 500 | 2=

173 S =8Z el dAgts 2 27 58E Y0 At 16,685 | 12,360 | 4,325 | Ef&l

174 SO0 EEA} 27 sHZ Yol Aty 50,000 | 30,000 | 20,000 | Ef&l

175 Hetd SAE HAEX] ZYEY) | SMed2ZEE A2l 80,203 | 40,000 | 40,203 | =%

176 | =ty =43 MAHX = SMESHEHEZE FsXeH 0l 80,203 | 40,000 | 40,203 | =%

177 et AMstng XA SN FEHEE X0l 20,000 | 20,000 - | 2=

178 | X9 A 24 X[ A (0f2l0] SMX Y eI O ZFE N A4 102,288 | 10,000 | 92,288 | &=

179 SAME FHAES TR SMFEMEH 29 57 68,267 | 31,000 | 37,267

180 o 2 X x| SAsy 24,628 8,000 | 16,628

181 seitE 7138 ZET X| SFEEFA S 2L 40,741 | 20,000 | 20,741

182 A1 storS T3] | SR SME AN S S 2R 2,000 2,000 -

183 SN2 TH| K| o|gL 50,600 | 15,000 | 35,600

184 20l W A5 AfEd A X L db= S A R0 57t 48,781 | 22,810 | 25,971

185 Chel 9 Oj=MEIR] ZSHXIA(CHSI AT X 2t xI2LH)) FMAEHQ SLUHEF AT 4,476 4,000 476

186 EEOIFY AR X[H| X|J HAOEA & 770A 10,366 8,400 1,966

187 fSASHS i = xEE SO Ls| 57X 3 9,000 8,000 1,000

188 sy =t xEE SMEFENSK| 3| ET7X| 3 9,000 8,000 1,000

189 O & Al THE == X|@H| X| & Mo =H 6,889 6,200 689

190 [ MM E EX S ANOES SUHY SALA E1E0[ 900 550 350

191 AHEs 2tEEstets ANOES SUHY SALA E1E O[3 1,800 1,050 750

192 | A MAME MR (SN ZEHA Z4) (XS SYAUY SATAN 2713|3)| 3,350 3,000 350

193 EZEDNI| KO ¢F ANOES SUHY SALA E1E O[3 1,650 1,300 350

194 AL SO 3| ChA| 2 FH| ANOES SUHY SALA E1E O[3 1,500 1,500 -

195 MIaH ZRCX|] ZHAY J2E|H2AE 7T 3,300 3,000 300

196 | 20|24t SA|Z3 WAL K| J (M EYT| SABYA X S 27X & 6,000 5,000 1,000

197 nEE3 MEsH=2E XA STSMOHL 3 3,500 3,000 500

198 nEMD F0|7| g5 XY DHL2 M3 5,000 5,000 - | 2=

199 | ST SEAYE RXEF X|AF L SSFE 35704 1,694,377 | 587,000 | 1,107,377 | %

200 2o M EM-E5 T2 FEX2C NI S 137] AR 15,600 | 15,600 - | R

201 A2 AR 28 XY FEN2CME S 137 =M 101,640 | 101,400 240 | =

202 F2e M &M 23 X3 FEN2CME S 17 =N 50,700 | 34,000 | 16,700 | &%

203 | A7 YEYI He T EM-22 Z2OWE) Mol=2 452 M 630 600 30 | EH

204 (AT HEYI B M 29H| X YE ) MOl=SdE2e M a 4,895 3,900 995 | 2=

205 |[AF HEYI AL EMB BMES X YUSE) Mol=2 452 M 3,074 2,000 1,074 | &%

206 HN14%| &0t7te 2947 S0 A 2,340 2,000 340 | =

207 H112 F7|AF 2 STAEA 13,200 | 12,000 1,200 | =%

208 102 7| AF 2 SAHLEHQHAER} 13,000 | 10,000 3,000 | =

209 H112 F7|AF 2 SRLAHAER} 5,500 5,000 500 | &




